BID to the BOROUGH OF AVALON CAPE MAY COUNTY, NEW JERSEY 2023 RECONSTRUCTION OF VARIOUS STREETS CONTRACT NO. M-134

THE UNDERSIGNED, as bidder, declares that the only persons or parties interested in the Bid as principals are named on Ownership Disclosure Statement; that the Bid is in all respects fair and without collusion or fraud; that he has carefully examined the annexed proposed form of Contract, the Specifications, the Contract Drawings, and the Information for Bidders; that he, or his representative, has made a personal inspection of the site of the proposed work; and that he proposes and agrees that if this Bid is accepted, he will contract with the **Borough of Avalon** in the form of contract hereto annexed, to provide the necessary machinery, tools, apparatus, and other means of construction, and to furnish all the materials, equipment and labor specified in the Contract in the manner and time therein specified, and according to the requirements of the Engineer as therein set forth, and that he will take in full payment therefore the following prices, to wit:

BID

to the

BOROUGH OF AVALON CAPE MAY COUNTY, NEW JERSEY 2023 RECONSTRUCTION OF VARIOUS STREETS CONTRACT NO. M-134

SCHEDULE OF BASE BID ITEMS

AMOUNT ITEM 1 **EXCAVATION, UNCLASSIFIED** 2,775 CY @ \$ 30, 25 Per CY thirty dollars twenty five Cents
(WRITE UNIT PRICE for Item 1 in Words and Numbers) ITEM 1A EXCAVATION, UNCLASSIFIED 1,085 CY @ \$ 30,25 Per CY thirty dalars twenty Fire Cents (WRITE UNIT PRICE for Item 1A in Words and Numbers) **EXCAVATION, TEST PITS** ITEM 2 90 CY @ \$ 0.0 \ Per CY \$ 0.90 Fero dollars one cent (WRITE UNIT PRICE for Item 2 in Words and Numbers) ITEM 3 BANK RUN SAND AND GRAVEL BACKFILL, VARIABLE THICKNESS, IF AND WHERE DIRECTED 891 CY @ \$ 0.01 PER CY Zero dollars one Cent (WRITE UNIT PRICE for Item 3 in Words and Numbers) ITEM 4 NJDOT 57 STONE, IF AND WHERE DIRECTED 65 CY @ \$ 0,0 \ Per CY Tero dollars one (ent)
(WRITE UNIT PRICE for Item 4 in Words and Numbers) ITEM 4A NJDOT 57 STONE, IF AND WHERE DIRECTED 25 CY @ \$ 0.0 \ Per CY \$ 0.25 Zero dollars one (ent (WRITE UNIT PRICE for Item 4A in Words and Numbers)

ITEM 5	SOIL AGGREGATE BASE COURSE, TYPE I-5, 6" THICK
	7,665 SY @ \$ 8.50 Per SY \$ 65 152.50
	eight dollars fifty cents (WRITE UNIT PRICE for Item 5 in Words and Numbers)
ITEM 5A	SOIL AGGREGATE BASE COURSE, TYPE I-5, 6" THICK
	2,710 SY @ \$ 8.50 Per SY \$ 23,035.00
	eight dollars Fifty Cents (WRITE UNIT PRICE for Item 5A in Words and Numbers)
ITEM 6	SOIL AGGREGATE BASE COURSE, TYPE I-5, VARIABLE THICKNESS, IF AND WHERE DIRECTED
	90 CY @ \$ 25.00 Per CY \$ 2,250.00
	twenty five dollars Zero Cents (WRITE UNIT PRICE for Item 6 in Words and Numbers)
ITEM 6A	SOIL AGGREGATE BASE COURSE, TYPE I-5, VARIABLE THICKNESS, IF AND WHERE DIRECTED
	40 CY @ \$ 25,00 Per CY \$ 1,000.00
	tuenty five dollars Zero (ents) (WRITE UNIT PRICE for Item 6A in Words and Numbers)
ITEM 7	HOT MIX ASPHALT 19M64 BASE COURSE, 2-1/2" THICK
	1,252 TONS @ \$ 105.00 Per TON \$ 131 460.00
	ONE HUNDSED FIVE DOLLARS ZETO CENTS (WRITE UNIT PRICE for Item 7 in Words and Numbers)
TEM 7A	HOT MIX ASPHALT 19M64 BASE COURSE, 3-1/2" THICK
	618 TONS @ \$ \\ \(\sigma \) \(\sigma \) \(\sigma \) Per TON \\ \(\sigma \) \(\
	(WRITE UNIT PRICE for Item 7A in Words and Numbers)
TEM 8	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 1-1/2" THICK
	752 TONS @ \$ 127.00 Per TON \$ 95,504.00
	752 TONS @\$ 127.00 Per TON \$ 95,504.00 One hundred thenty Seven dollars Zero Center (WRITE UNIT PRICE for Item 8 in Words and Numbers)

ITEM 8A	
	266 TONS @ \$ 127,00 Per TON \$ 33,782.00
	266 TONS @ \$ 127,00 Per TON \$ 33,782.00 one hondred trenty Seven dallows Zero Certs (WRITE UNIT PRICE for Item 8A in Words and Numbers)
ITEM 9	CONCRETE GUTTER, 8" THICK
	500 SY @ \$ 14 7,00 Per SY \$ 73,500.00
	500 SY@\$ 147,00 Per SY \$ 73,500.00 CNC hundred forty seven dalars Zero Cents (WRITE UNIT PRICE for Item 9 in Words and Numbers)
ITEM 9A	CONCRETE GUTTER, 8" THICK
	72 SY @ \$ 147.00 Per SY \$ 10,584.00
	one hundred farty Seven dallars Zara Cents (WRITE UNIT PRICE for Item 9A in Words and Numbers)
ITEM 10	CONCRETE ROCKER GUTTER
	40 SY @ \$ 255.00 Per SY \$ 10, 200.00
	two hundred fifty five dollars Zero (ents (WRITE UNIT PRICE for Item 10 in Words and Numbers)
TEM 11	CONCRETE SIDEWALK, 4" THICK
	250 SY @ \$ 90.00 Per SY \$ 22,500.00
	(WRITE UNIT PRICE for Item 11 in Words and Numbers)
TEM 11A	CONCRETE SIDEWALK, 4" THICK
	65 SY @ \$ 90,00 Per SY \$ 5,850.00
	(WRITE UNIT PRICE for Item 11A in Words and Numbers)
TEM 12	CONCRETE DRIVEWAY APRON, 6" THICK
	218 SY @ \$ 90,00 Per SY \$ 19,620.00
	MRITE UNIT PRICE for Item 12 in Words and Numbers)
TEM 12A	CONCRETE DRIVEWAY APRON, 6" THICK
	30 SY @ \$ 90.00 Per SY \$ 2,700.00
	(WRITE UNIT PRICE for Item 12A in Words and Numbers)
	CONTRACTOR OF THE TABLE VIOLOS AND NUMBERS)

ITEM 13	DETECTABLE WARNING SURFACE		
	106 SF @ \$ 57,00 Per SF	\$	6,042.00
	(WRITE UNIT PRICE for Item 13 in Words and Numbers)		
	(WRITÉ UNIT PRICE for Item 13 in Words and Numbers)		
ITEM 13A	DETECTABLE WARNING SURFACE		
	64 SF @ \$ 5 7.00 Per SF	\$	3,648.00
	FIFTY Seven dollars Fers Cents (WRITE UNIT PRICE for Item 13A in Words and Numbers)		
ITEM 14	8"x16" CONCRETE VERTICAL CURB		
	3,480 LF @ \$ 37.00 Per LF	\$	128,760.00
	thirty Seven Edlars Beso Cents (WRITE UNIT PRICE for Item 14 in Words and Numbers)		
ITEM 14A	8"x16" CONCRETE VERTICAL CURB		
	510 LF @ \$ 34.00 Per LF	\$	18,870.00
	(WRITE UNIT PRICE for Item 14A in Words and Numbers)		
ITEM 15	TOPSOILING, 4" THICK		
	385 SY @ \$ 10,00 Per SY	\$	3,850.00
	ten dalars Fera Cents (WRITE UNIT PRICE for Item 15 in Words and Numbers)		,
TEM 15A	TOPSOILING, 4" THICK		
	70 SY @ \$ Per SY	\$	700,00
	ten dellars Zero Cents (WRITE UNIT PRICE for Item 15A in Words and Numbers)		
TEM 16	SODDING		
	385 SY @ \$ 22.00 PER SY	\$	8,470.00
	twenty two dollars Ferc Cent (WRITE UNIT PRICE for Item 16 in Words and Numbers)		
TEM 16A	SODDING		
	70 SY @ \$ 22.00 PER SY	\$	1,540.00
	70 SY @ \$ 22.00 PER SY twenty to dollars Zero Cent (WRITE UNIT PRICE for Item 16A in Words and Numbers)	S	

IIEM 17	LANDSCAPING STONE		
	100 TONS @ \$ 125.00 Per TON	\$_	12,500.00
	(WRITE UNIT PRICE for Item 17 in Words and Numbers)	C	ent>
	(WRITE UNIT PRICE for Item 17 in Words and Numbers)		
ITEM 17A	LANDSCAPING STONE		
	20 TONS @ \$ 125.00 Per TON	\$_	2,500.00
	20 TONS @ \$_125.00 Per TON one hundred thenty five dollars (WRITE UNIT PRICE for Item 17A in Words and Numbers) THERMOPLASTIC, REFLECTORIZED, PAVEMENT MARKINGS		Zero Cents
ITEM 18	THERMOPLASTIC, REFLECTORIZED, PAVEMENT MARKINGS		
	1,305 SF @ \$ 3,35 PER SF	\$_	4,371.75
	three dollars thirty five cents (WRITE UNIT PRICE for Item 18 in Words and Numbers)		-
ITEM 18A	THERMOPLASTIC, REFLECTORIZED, PAVEMENT MARKINGS		
	1,525 SF @ \$ 3, 35 PER SF	\$_	5,108.75
	three dollars thing five cents (WRITE UNIT PRICE for Item 18A in Words and Numbers)		·
ITEM 19	TEMPORARY LATEX SAFETY STRIPE, 6" WIDE, IF AND WHERE	ΕD	IRECTED
	3,990 LF @ \$ 0.40 Per LF	\$_	1,596.00
	Foro Collars Forty cents (WRITE UNIT PRICE for Item 19 in Words and Numbers)		
ITEM 20	TRAFFIC CONTROL		
	1LS@\$_\.57	\$_	1.57
	One dallar fifty Seven Cents (WRITE LUMP SUM PRICE for Item 20 in Words and Numbers)		
ITEM 21	CONCEDITION CLONG		
	CONSTRUCTION SIGNS		
		\$_	5,000.00
ITEM 22A	10 UNITS @ \$ Per UNIT		
	10 UNITS @\$_500.00 Per UNIT FILE HUNERED DO NATS FEET CENT (WRITE UNIT PRICE for Item 21 in Words and Numbers)	<u>-</u> S	

ITEM 23	RESET UTILITY VALVE BOX	
	3 UNITS @ \$ 75.00 PER UNIT	\$ 225.00
	(WRITE UNIT PRICE for Item 23 in Words and Numbers)	<u> </u>
ITEM 24	TEMPORARY TRENCH RESTORATION	
	365 LF @ \$ 77.00 PER LF	\$ 28,105,00
	Seventy Seven dollars Zero Cents (WRITE UNIT PRICE for Item 24 in Words and Numbers)	
ITEM 25	PERMANENT TRENCH RESTORATION	
	365 LF @ \$ 67.00 PER LF	\$ 24,455.00
	(WRITE UNIT PRICE for Item 25 in Words and Numbers)	
ITEM 26	8"Ø PVC SDR 35 GRAVITY SEWER MAIN	
	1,867 LF @ \$ 137.00 Per LF	\$ 255,779,00
	(WRITE UNIT PRICE for Item 26 in Words and Numbers)	o Cents
ITEM 27	8"Ø CERAMIC EPOXY LINED CLASS 52 DUCTILE IRON GRAVI	TY SEWER MAIN
	50 LF @ \$ 37.00 Per LF	\$ 1,850.00
	thirty Seven dollars Zero Cents (WRITE UNIT PRICE for Item 27 in Words and Numbers)	
ITEM 28	8"x6" PVC SDR 35 BRANCH CONNECTION	
	58 UNITS @ \$ 1, 850.00 Per UNIT	\$ 107,300.00
	(WRITE UNIT PRICE for Item 28 in Words and Numbers)	s Less Cents
TEM 29	6"Ø PVC SDR 35 SERVICE LATERAL	
	1,334 LF @ \$ Per LF	\$ 5,336.00
	Four dallars 700 Cents (WRITE UNIT PRICE for Item 29 in Words and Numbers)	
TEM 30	VERTICAL 4"Ø PVC SDR 35 CLEANOUT RISER PIPE	
	58 UNITS @ \$ 750.00 Per UNIT	\$ 43,500.00
	Seven hundred fifty dollars For (WRITE UNIT PRICE for Item 30 in Words and Numbers)	

ITEM 31	PRECAST SANITARY SEWER MANHOLE	
	7 UNITS @ \$ 7, 700.00 Per UNIT	\$ 53,900.00
	7 UNITS @\$ 7,700.00 Per UNIT Seven thousand Seven hundred dollars (WRITE UNIT PRICE for Item 31 in Words and Numbers)	5 Feso cents
ITEM 32	PRECAST DROP SANITARY SEWER MANHOLE	
	1 UNITS @ \$ 25, 350.cc Per UNIT	\$ 29,350.00
	1 UNITS @ \$ 25,350.00 Per UNIT Twenty five thousand three hundred fifth (WRITE UNIT PRICE for Item 32 in Words and Numbers) 8"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS	y dollars Zesa Cents
ITEM 33	8"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS	
	1,170 LF @ \$ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	\$ 138,060.00
	one hundred elahteen dollars Zero (WRITE UNIT PRICE for Item 33 in Words and Numbers)	•
ITEM 34	6"Ø PVC C-900 WATER MAIN PIPE AND FITTINGS	
	295 LF @ \$ 97,00 PER LF	\$ 28,615.00
	(WRITE UNIT PRICE for Item 34 in Words and Numbers)	<u></u>
ITEM 35	SERVICE CONNECTIONS	
	34 UNITS @ \$ 2,575.00 PER UNIT	\$ 87,550.00
	(WRITE UNIT PRICE for Item 35 in Words and Numbers)	Fire dollars Zeso Cent
ITEM 36	1" COPPER SERVICE PIPE	
	809 LF @ \$ Per LF	\$ 7,281.00
	(WRITE UNIT PRICE for Item 36 in Words and Numbers)	
ITEM 37	WATER METER BOX, COVER AND SETTER 1"	
	34 UNITS @ \$ 927,00 Per UNIT	\$ 31,518.00
	(WRITE UNIT PRICE for Item 37 in Words and Numbers)	Zero Cents.
ITEM 38	ABANDONMENT OF EXISTING WATER MAIN	
	1LS@\$ 27,350.00 (BP)	\$ 27,350.00
	1 LS @ \$ 27, 350.co Twenty Seven thousand three trundred (WRITE LUMP SUM PRICE for Item 38 in Words and Numbers)	fifty dollars tero Cen-

ITEM 39	8" GATE VALVE AND VALVE BOX	
	4 UNITS @ \$ 30 77.00 Per UNIT	\$ 12,308.00
	4 UNITS @ \$ 30 77.00 Per UNIT Three thousand sevent Seven dollars (WRITE UNIT PRICE for Item 39 in Words and Numbers)	teso cents
ITEM 40	6" CATE VALVE AND VALVE BOY	
	1 UNIT @ \$ 2,700, cc Per UNIT	\$ 2,700,00
	1 UNIT @\$ 2,700.00 Per UNIT Live thousand seven bondsed date (WRITE UNIT PRICE for Item 40 in Words and Numbers) FIRE HYDRANT ASSEMBLY	15 Zela Cent
ITEM 41	FIRE HYDRANT ASSEMBLY	
	2 UNITS @ \$ 9,700.00 Per UNIT	\$ 19,400.00
	2 UNITS @ \$ 9,700.00 Per UNIT nine thousand Soven hundsed doll (WRITE UNIT PRICE for Item 41 in Words and Numbers) UTILITY BYPASS, IF AND WHERE DIRECTED	ass Zero Cents
ITEM 42	UTILITY BYPASS, IF AND WHERE DIRECTED	
	8 UNITS @ \$ Per UNIT	\$ 8.00
	(WRITE UNIT PRICE for Item 42 in Words and Numbers)	
ITEM 43	SITE RESTORATION	
	1 LS @ \$ 177000,00	\$ 177,000,00
	(WRITE LUMP SUM PRICE for Item 43 in Words and Numbers)	55 Ferc Cents
ITEM 44	UTILITY AS-BUILTS	
	1 LS @ \$ 3,000,00	\$ 3,000,00
	three thousand dollars Fero Ce (WRITE LUMP SUM PRICE for Item 44 in Words and Numbers)	n+s
ITEM 45	FUEL PRICE ADJUSTEMENT	\$ <u>1,200.00</u>
ITEM 46	ASPHALT PRICE ADJUSTEMENT	\$ <u>2,400.00</u>
ITEM 47	ONE 4" AND TWO 2" SCHEDULE 40 PVC ELECTRICAL CONDU	JITS
	740 LF @ \$ 65.00 Per LF	\$ 48,100.00
	Sixty for bollows Zero Cents (WRITE UNIT PRICE for Item 47 in Words and Numbers)	

1,240 LF @\$ 1.65 Per LF \$ 2,046.00

onc dollar 5:x+7 Fire Cents
(WRITE UNIT PRICE for Item 48 in Words and Numbers)

TOTAL BASE BID (Items 1 through 48 inclusive)

\$ 2,017,597.28

the million seventeen thousand five hundred ninety seven dollars and (WRITE TOTAL BASE BID in Words and Numbers) thenty eight cents